o(d @) (rad)

1

Ratio

ooy, )y

1072

107!

Du‘;

H+H+HH+++++*H+M+{HH+MWH#+HH+' '%

23 _2

_1 0 l > 3
TP n (PCA to beamline)

o(0 cot(y))

105

Ratio

+HH+H++”*++H+++WWHHH+HH+H+H

_1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP2_epoch4

2

S

. "é" +++“++*+++++*+++*++++ Hw#++++++++++#ﬁ+++ﬂ+++
"3 ‘é T 1 é 3

TP n (PCA to beamline)

3}—

o]
107

010%

;:%

(T R

R

TP n (PCA to beamline)

z

oo a)(cm)

1::

il

!Héﬂﬂﬂ“éfﬂmﬂ-ﬂémwﬂﬂi:MM

23 )

-1 ) T 5 .
TP n (PCA to beamline)



	Contents
	Page 1


